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Model 1: OLS estimates using the 29 observations 1960-1988
Dependent variable: 1_Q

VARIABLE COEFFICIENT STDERROR T STAT P-VALUE
const -4.58087 0.724913 -6.332 <0.00001
LY 0.688498 0.0947276 7.268 <0.00001
I_P -0.485683 0.101394 -4.790 0.00006

Mean of dependent variable = 0.784827
Standard deviation of dep. var. = 0.108499
Sum of squared residuals = 0.0949108
Standard error of residuals = 0.0604187
Unadjusted R-squared = 0.712058

Adjusted R-squared = 0.689908

(F-statistic (2, 26) = 32.148 (p-value < 0.00001
Durbin-Watson statistic = 1.00057

First-order autocorrelation coeff. = 0.489867
Log-likelihood = 41.8214

(Log-likelihood for Q = 19.0615)

Akaike information criterion (AIC) = -77.6429
Schwarz Bayesian criterion (BIC) = -73.541
Hannan-Quinn criterion (HQC) = -76.3582
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Model 2: OLS estimates using the 29 observations 1960-1988
Dependent variable: 1_Q

VARIABLE COEFFICIENT STDERROR T STAT P-VALUE

const -5.02489 0.541262 -9.284 <0.00001
D82 13.8623 2.85197 4.861 0.00007
LY 0.735837 0.0726077 10.134 <0.00001
D82LY -1.68927 0.345466 -4.890 0.00006
1P -0.381857 0.103289 -3.697 0.00119
D821_P 0.490526 0.153989 3.185 0.00412

Mean of dependent variable = 0.784827
Standard deviation of dep. var. = 0.108499
Sum of squared residuals = 0.0261724
Standard error of residuals = 0.0337332
Unadjusted R-squared = 0.920598

Adjusted R-squared = 0.903336

(F-statistic (5, 23) = 53.3328 (p-value < 0.00001
Durbin-W atson statistic = 2.02153

First-order autocorrelation coeff. =-0.0136939
Log-likelihood = 60.5008

(Log-likelihood for Q = 37.7408)

Akaike information criterion (AIC) = -109.002
Schwarz Bayesian criterion (BIC) = -100.798
Hannan-Quinn criterion (HQC) = -106.432
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LS #f Dependent Variable is INCOME
Included observations: 26

Variable Coefficient

M 335.3201
VETEK 31.50026
M*VETEK 10.78545
c 3459.347
R-squared 0.752005
Adjusted R-squared 0.718187
S.E. of regression 207.1305
Sum squared resid 843867
Log likelihood -173.3878
Durbin-Watson stat 1.945103

Std. Error

213.8745
6.113796
13.80593
92.51852

t-Statistic

1.567835
5.152324
0.781219
37.39085

Mean dependent var
S.D. dependent var
Akaike info criterion

Schwarz criterion

F-statistic

Prob{F-statistic)

INCOME = C(1)*M + C(2)*VETEK + C(3)*(M*VETEK) + C(4)

Wald Test:
Equation: Untitled

Null Hypothesis:
C(I)=0
C(3)=0

F-statistic 12.89398
Chi-square 25.78797

Probability
Probability

0.000197
0.000003

Prob.

0.1312
0
0.443
0

3990.769
390.1787
10.80734
11.00088
22231

0.000001
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White’s test for heteroskedasticity

OLS using observations 1-14
Dependent variable: uhatr2
Omitted due to exact collinearity : sq_bdrms
Coefficients std.error t-ratio p-value

Const
Sqft
Bedrms
Baths
Sq_sqft
X2 X3
X2 X4
X3 X4
Sq_baths

Unadjusted R-squared=0.736608
Test statistic: TRA2=10.312512
With p-value=p(chi-square(8)>10.312512)=0.243773
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DATA7-19: Data on demand for cigarette consumption in Turkey
Source: "Cigarett demand, health scares, and education in Turkey,"
by Aysit Tansel, APPLIED ECONOMICS, 1993, pp. 521-523.
Q Cigarette consumption per adult (kg), Range 1.86 - 2.723.
Y Per capita real GNP in 1968 prices ( in Turkish liras), Range 2560 - 5723
P Real price of cigarettes in Turkey liras per kg, Range 1.361 - 3.968

Model 1: OLS, using observations 1960-1988 (T = 29)
Dependent variable: Q

coefficientstd. error t-ratio p-value
const 1.656542 0.12367813.39398 3.53E-13
Y 0000344 5 28E-056 517848 6 56E-07
P -0.4233 0.096944 -4 366390.000179

Mean dependent var 2.2046555.D. dependent var  0.24319
Sum squared resid 05951675 E of regression 0151298

R-squared 0.640589 Adjusted R-squared 0.612942
F(2, 26) 23.17031P-value(F) 1.67E-06
Log-likelihood 15.20081 Akaike criterion -24 4016
Schwarz criterion -20 2997 Hannan-Quinn 23117
rho 0.536727 Durbin-Watson 0.911596

: N2 VYIIY NIYYNN NN IR IPIDN .2

Performing iterative calculation of rho._.

ITER RHO ESS
1 053673 0.34981
070446 0324784
0.74270 0323411
0.75026 0.323356
075173 0323354
0.75201 0.323354

(=2, I S SL R N

Maodel 2- Cochrane-Orcutt, using observations 1961-1988 (T = 28)
Dependent variable: Q

coefficient std_ error t-ratio  p-value
const  1.82344 0.392439 4646 9.32e-05™"
Y 0.000181935 9.82015e05 1.853 007358 *
P -0.171091 0.0826337 2070 00489 **

Statistics based on the rho-differenced data-

Mean dependent var 2.216964 S.D. dependent var 0.238275
Sum squared resid  0.323354 S.E. ofregression  0.113728

R-squared 0.789097 Adjusted R-squared 0.772225
F(2, 29) 2577408 P-value(F) 0.096004
rho -0.087820 Durbin-Watson 2171288

1989 Mwa Q SV 157y NIX TIND 1PN N T 1PN L)
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U= U+ P, + Pl + & NI NDNN WP DPPNN ORN PrTA0 )OI
U =70+ U, U+ 7Y o, NN DRNWIN DTN

Dependent variable: uhat
Coefficients std.error t-ratio p-value

Const

Uhat1
Uhat2
Uhat3

Y

Unadjusted R-squared=0.45002

Test statistic: TRr2=22.99
With p-value=p(chi-square(3)<22.99)=0.0432

: NPYTAD DTN DOV VO NN PONIN
2 YNNI DY
: £ 30 MIYYNN
: (P90 NXRXIN NYI) 1N N2ND YVDLVLDN DT
: NN NYAPNNN MPONN
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INQ° =a,+a,INP +a,InZ, +a,In INCOME, +u,
INQ° =B,+B,InP +4,InL, +v,
QtD:QtS

: DYYTIN NYAIN DXINNNY DINAN DXVHIN DINNN

Model 1: TSLS estimates using the 30 observations 1-30
Dependent variable: |_Q

Instruments: |_L

VARIABLE COEFFICIENT  STDERROR T STAT P-VALUE
const -1.83485 1.14385 -1.604 0.10869
I_P -1.34898 0.645690 -2.089  0.03669 ™
I_Z 1.72145 0.467875 3.679 0.00023 ™~
I_income 0.984145 0.483543 2.035 0.04182™

Mean of dependent variable = 2. 8776
Standard deviation of dep. var. = 0.300322
Sum of squared residuals = 267757

Standard error of residuals = 0.32091
Unadjusted R-squared = 0.222881

Adjusted R-squared = 0.133214

F-statistic (3, 26) = 2.48564 (p-value = 0.0829)

Model 2: TSLS estimates using the 30 observations 1-30
Dependent variable: |_Q

Instruments: |_Z |_income

VARIABLE COEFFICIENT STDERROR T STAT P-VALUE

const 3.07410 0263717 11.657 <0.00001
I_P 1.24927 0115149  10.849 <0.00001 ™
L -1.27242 0129253  -9.844 <0.00001 ™

Mean of dependent variable = 2 8776
Standard deviation of dep. var. = 0.300322
Sum of squared residuals = 0.377808
Standard error of residuals = 0.118291
Unadjusted R-squared = 0.855763

Adjusted R-squared = 0.845079

F-statistic (2, 27) = 80.096 (p-value < 0.00001)
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Model 3: OLS estimates using the 30 observations 1-30

Dependent variable: 1_Q

VARIABLE COEFFICIENT STDERROR T STAT P-VALUE
const 0.499595 0.630065 0.793 0.43500
I_L -0.611731 0.163450 -3.743 0.00091 ™
I_income 0.395076 0.142590 2771 0.01019 ™
Iz 0.937441 0.197381 4.749 0.00007 **=

Mean of dependent variable = 2. 8776

Standard deviation of dep. var. = 0.300322
Sum of squared residuals = 0.834357

Standard error of residuals = 0.179139
Unadjusted R-squared = 0.681008

Adjusted R-squared = 0.644201

F-statistic (3, 26) = 18.5023 (p-value < 0.00001)
Log-likelihood = 11 1662

{Log-likelihood for Q = -75.1618)

Model 4: OLS estimates using the 30 ocbservations 1-30

Dependent varnable: |_P

VARIABLE COEFFICIENT STDERROR T STAT  P-VALUE

const -1.73053 0.419481 -4.125 0.00034 ***
I_L 0.453478 0.108821 4167 0.00030 ™~
I_income 0.436678 0.0949326 4.600 0.00010 ™~
I_Z 0.581185 0.131411 4423 0.00015 ™™

Mean of dependent variable = 2.99427
Standard deviation of dep. var. = 0.314761

Sum of squared residuals = 0.369832

Standard error of residuals = 0.119266
Unadjusted R-squared = 0.871281

Adjusted R-squared = 0.856428

F-statistic (3, 26) = 58.6632 (p-value < 0.00001)
Log-likelihood = 23.3704

(Log-likelihood for P = -66.4576)
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e’ = 7, +7,sqft; + 7,bedrms, + 7,baths, + 7,sqft? + 7.bedrms? + : nTONIW NXNWHND (3
7.baths” + 7.sq *bed + 7,50 *bath + 7,bed *bath
Hyip =7, =..=7, :DORN NIYYN
. p—value =0.243773 > a =0.005 :White JN20 NMINNIN
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.LMnan

Hytp=p,=p3=0
H, :OTHERWISE

LM, =T-R?=22.99
S0 Ty W, pvalue < a

nQ° =, +INP +a,INZ, +a, INnINCOME, +u, :15Tm (6
AnQS =B, +BINP+AInL +v, :297Mm
.InQ,=x,+7mInL, +7,InINCOME, + 7, InZ, +¢&, :35T M
.InP =4,+4InL +4,InINCOME, + 4, InZ +@, :4 57N

9 www.gool.co.il



